OS YEK-TNCT

MATEMATUKA

PelueHMe 3a4a4 No 610Ky «EANHULbI N3MepeHUus»

EAVHULBI N3MepeHns BpeMeHU

1 cyTkm = 24 yaca

1 yac = 60 MUHYT

1 MUHyTa = 60 cekyHZ,

1 cyTkn = 24 yaca = 1440 MuHyT = 86400 cekyH/,

1 cekyHaa = 1/60 muHyT = 1/3600 yacos = 1/ 86400 cyToK

EAHULBI N3MepeHns Macchbl

17=10u4

1u=100«kr

1kr=1000r

1r=1000 mr

11=101=1000 kr=1000000 r =1000000000 mr

1 mr=0,001r=0,000001 kr =0,00000001 ,=0,000000001 T

EAVHWLbI N3MepPeHUA PacCTOSHNA

1km =10 am

1AM =100 m

1TmM=100cm

1Tcm =10 Mm

1Tkm=10am = 1000 m = 100000 cm = 1000000 mm
1Mm=0,1cm=0,0001 m=0,00001 gm= 0,000001 kM

EAHMLBLI U3MepeHusa naoLwaan
1 kB. kM = 100 kB. AM

1 kB. AM = 10000 m

1 kB. M = 10000 KB. CM

1 kB. cM = 100 KB. MM

EAVHWLLI U3MepeHUs o6bemMa

1 ky6. kM = 1000 ky6. AM

1 ky6. am = 1000000 ky6. M

1 ky6. M = 1000000 ky6. cM

1 ky6. cm = 1000 ky6. MM
Onliskill




